instruction manua

A8 F SSyve PNy s
M A NUFACTURINIG * I ND

(ZF=d=I=) TXT Rear Flip Seat Kit




Parts List

Ny % F%

Back Pad (1) Seat Pad (1 Side Frame (2 Step Plate (1

Flip Seat Frame (1) Back Frame (1)  Step Plate Support (2 Dust Cover (2)

i‘» ﬂ o

Front Support (2) Rear Support (2) Front Seat Support (2) Seat Pull (1) Rear Seat Support(2)

Parts not shown in proportion. 2



Bolts - actual size

AllenBolt 1/4”  1/4”  5/16" 5/16" 5/16"  5/16" 3/8"
17 x17  x13/4" x17  x11/2" x2" x21/2" x11/4"

(8) (8) (4) (4) (4) (4) (6) (2)

L] L ] L C 1 L1 C

Nuts & Washers

1/4" 5/16" 3/8" 1/4" 5/16" 5/16"
Washer ~ Washer Washer ~ Nyloc Nut  Nyloc Nut Acorn Nut

(16) (36) (2) (4) (16) (2)



Installation

1. Unbolt existing supports 2. Remove rear support and dissasemble.

remove bolt connecting remove bolts(4) connecting Remove Bolts(4) connecting roof supports Set aside roof supports(2) and front seat cushion
roof supports(2) to roof. rear support to frame. and front seat cushion to bag support. for later use.
3. Install flip seat frame supports. 4. Install flip seat frame.

Drill outer holes(2) in bag well to 3/8” Place aluminum dust covers and ! Bolt rear supports to underside of _B°|t front supports to outer side of
and place rear supports in bag well with front supports in frame wells with flip seat frame with 5/16"x 1" bolts(2), flip seat frame with 5/16”x 1" bolts(2),
5/16"x 2" bolts(2) and flat washers(2). 3/8"x 1 1/4"bolts(2) and flat washers(2). flat washers(2), and nuts(2). flat washers(2), and nuts(2).

Parts not shown in proportion. 3



Installation
5. Install Side Frames. 6. Install back frame.

Bolt side frames to rear of flip seat frame Bolt side frames to front of flip seat frame Bolt back frame to side frames with Install back frame with roof support
with 5/16”x 1 1/2"bolts(2), flat washers(2), with 5/16”x 1 1/2"bolts(2), flat washers(2), ~ 5/16"x 2 1/2"bolts(4), flat washers(4), brackets facing the front of the cart.
and acorn nuts(2). and nyloc nuts(2). and nyloc nuts(4).
7. Install step plate. 8. Re-install roof supports.

use hardware bag # @

Bolt step plate supports loosely Bolt step plate to side frames connect step plate supports to rear

Bolt roof supports to back frame in Bolt roof supports to roof in
to step plate with 5/16"x 2"bolts(2), ~ with 5/16"x 2 1/2"bolts(2),  support bolts on underside of bumber  reverse orientation from factory default, reverse orientation from factory default,

flat washers(2), and nuts(2). flat washers(2), and nuts(2). with flat washers(2), and nuts(2). using original hardware. using original hardware.

Parts not shown in proportion.



Installation
9. Install rear seat back pad. 10. Re-install front seat back pad.

use hardware bag # @ use hardware bag #

-
Bolt rear seat back pad to underside of  Bolt front seat supports to back of front seat Bolt front seat back pad to top side of
back pad with 1/4”x 1”bolts(4), back frame with 1/4”x 1 3/4" bolts(2),
flat washers(2), and nuts(2).

Bolt rear seat supports(2) to back of
rear seat back pad with 1/4”x 1" bolts(4) back frame with 1/4”x 1 3/4" bolts(2),
and flat washers(4). flat washers(2), and nuts(2). and flat washers(4).

11. Install flip-seat pad.

use hardware bag #

Attach flip seat pad to underside of cargo
panel with allen bolts(8). Secure seat pull
in between pad and panel.

Parts not shown in proportion.



